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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 904 5.5 2.2 8 69.2 100

5 891 11 4.3 18 60.9 98.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

It was important to make the point that primary and secondary victims applies to psychiatric harm.



Sticky Note

The candidate has provided a brief explanation of the difference between a primary and secondary victim.
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Sticky Note

Case law has been used for analysis and evaluation - the command words for this question.




Sticky Note

A strong answer would focus on the Alcock case and subsequent case law.
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Sticky Note

There is analysis and evaluation here which addresses the command words in the question. The candidate has considered the policy arguments. This answer could have been improved by a clearer and more logical consideration of the law on secondary victims and some further case law as per the mark scheme. However, it is a good attempt at a difficult question.
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1. Explain what is meant by duty of care in the tort of negligence. [8]
Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all the
material mentioned below. Each answer will be assessed on its merits according to the
assessment grid and the indicative content. Examiners should seek to credit any further
admissible evidence offered by candidates.

In explaining how the law decides what is meant by a duty of care, candidates are
expected to demonstrate knowledge and understanding of legal rules and principles
underlying a duty of care. In demonstrating this knowledge and understanding,
candidates are required to focus on the specific nature of the question set and not simply
to give a general answer on all elements of negligence.

The response might consider issues such as:

e History of test for duty of care — Donoghue v Stevenson
o A person must take reasonable care to avoid acts or omissions which
could be reasonably foreseen to likely injure a neighbour
o Test of reasonable foreseeability
o Who is ‘neighbour’? — persons who are so closely and directly affected by
the defendant’s act that they ought to have them in their contemplation
e Possible illustrative examples such as the duty of care owed by drivers
to pedestrians and other road users
e Test redefined in Caparo v Dickman. Three elements must be proved:
o Reasonable foreseeability that a person in the claimant’s position would
be injured
o There was sufficient proximity between the parties
o lItis fair, just and reasonable to impose liability on the defendant

Band | Marks AO1: Demonstrate knowledge and understanding of legal rules
and principles

3 6-8 e Excellent, detailed knowledge and understanding of legal
rules and principles relating to the principle of duty of care.

> 3.5 ¢ Good knowledge and understanding of legal rules and
principles relating to the principle of duty of care.

1 1-2 e Basic knowledge and understanding of legal rules and
principles relating to the principle of duty of care.

0 Response not creditworthy or not attempted.

© WJEC CBAC Ltd. 3
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Sticky Note

A logical place to start with the neighbour principle from Donoghue v Stevenson.




Sticky Note

The candidate has spent too long on Donoghue here and needed to get to the Caparo tests, allowing for more detail on each one.




Sticky Note

The candidate has done well to cover the main points but lacks detail on each Caparo test, hence the mark of 6 out of 8 marks.





























1. Explain what is meant by duty of care in the tort of negligence. [8]

© WJEC CBAC Ltd. (2150U20-1)
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Sticky Note

This answer might have been improved by briefly stating what causation is to put this answer in context.
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Sticky Note

Whilst not a perfect answer, scores full marks as there is a good range on causation and the key case of Wagon Mound is discussed. There is a range of other relevant case law included.




































































































































